R -RI-_R--ER
A ¢ R
P ERAERE B R(E D)




[FAiR{I] BEST
Band 1E2 S INEAE
FER REE [ X
3% | Z=1ERFRRIR

Biin

(48/141) 34%















TS e

}:;_) ’ E\ i‘ /\':‘F? p«c Lﬁnﬁa{/\f«é TFE
m%wﬁ%

O 1 2 3 4 5 6 7 8 9

.y t it

et -~ Pade




GI%




K — 2700
3000(-300)




B A (H e )

HIE Band one
Bandl 3
i YN

Band?2 3
i YN

HIE Band two
Band?2 3
Z&N

Band3 3
Z&N

HIE Band three

B3k %_band|

B3k %_band?2



2019-21#

6A(25) | 6B(38) | 6C(24) | 6D(37) | 6E(33)

pv/%-/" 19 36 20 33 27
Y] 0 1 2 3 1
EEY ] 1 1 0) 0 1
T SRR 1 0 1 1 0
57 AR 1 0 1 0 1

His 3 | 3(8,9,19) 0 0 0 3(7,7,13)
Banding| |8f= ~£ 87 3K || 2% A A




#5 4

l.Band one & > band two Ep
4e % ¥ _bandl

—&KF | Band one 7
5 SFE Band one
5= EE Band two
EEIL I Band two \
EER AW Band two

4o % & _band?




£ 4
2. Band two Ef > band one k&

4% F bandl

= =FA Band two
= V05 Band two
= L FE Band two

F— R Band one :::;;77
=5 Band two

4o % & _band?




W ¥ T

?g A4 i / + - S
(3}’«1 gl IE2 ou}/‘?ﬁ ) §%f/uﬁ5>

(F% - B SA > 2H T




(13)

2 F )3 (- )

6B Bandl _}

1 #54 L8 (157N)

L

— | — | = || FH
PN R
2 I S
59 2 2




EFEHIBT(Z)

6B Bandl _|(28)

— | Z | = || A
R X |28 3Rk 44
(1) 6 | 7 | 5 | 2




EFHIPT(Z)

6D Bandl

—_— A

B | F# | A
IR

76 | (13) E r

as',g
)’\
R ¢




HERIBF(PT)

6D Bandl/2
3 &84 44 (157N)

— | | =g H
AR SR A
6 | 3 | 63 | 5 | /A&




EEHIBT(F)

6E Band 2/1 ]
— | | = |/ | FH
/é B A |k | EP | B2
* 16 71 7 ¥
02 65




EEHIBT(N)

:_L;r
6E Band 2
— | | = | " | &
/zg A | fak | EM | IHA
76 76 71 7 11
65

(7 % &~




EFEHIBT(T)

oE Band?2

— |- | = |

—

/é% A
63 | % | 10 | 1
76

B TP

1B 2 %




Band 1l Band?2 Band 3

v

Bandl Band2 Band3

\




)
-
Q]

aa

‘IT
28

X %
4 I 4 'Qn.ﬂ
gy & =
N
~ Bm ~Y ,
N




4. band2 iz >
F1. band2 = %



NGEE]

==

/

JuBXRYs
juliym)\
"




EFEHIBT(V)

ﬁ:L;r
6C Band 2
— B — JU +
/%ag Kl | M | 4 22 | B2
% |71 oF 6 | ¥
6o

s [P




EFEHIBT-OL)

:_:;
6A Band 2/3
s _ | — JL il
/é TR | B2 | B
£ 71 2 )
b4 69




EFEHIBT(T)

:_L;r
6A Band 3
— B — JL 35
/sépa ¥R | E? | R | B
/’J‘ £ B 71 10
bh b4 69

8: =2 7%




REMIPIT—)

L3
6A Band 3
— | | = JT +H
/af—tk A | XA | B2 | B8
76 | 10 7 L2 :g
64 69 2




EE s A ER
[

It 7
I\
f.%}‘i%%? :

®
EP QP P9

—F P R?




A=
o b

o g
& P\ s
T B >




——JCHRH L

" B

——1510%
—— ] L Z 5 [E]

—— o FH 4 %8
—ZEAEIR




4 - B A 128(4r1) | 160(551)
£ 2 8 8

poiTaR 30% 36 45
GR4E 84 e
A 84x10% 8 10
2 84—8 76 99




oo |
b n R
A L o T =
. ,ﬁh Sin? %&r i
‘= R JER




BB L =,
Et%’\ e

" iEmE%S i%fmifg
— e h 2 %S B4 LIz
—EEFE2 FEE Ui IR

o-_—‘;) / /%_ / »
— F IE W

i
n '



——PSTE

9 L

ol
gall
_

_

]
|

[~




P BT

P BT

-/ \E]li

2
LB (853 ~ )

-SCFF >~ EF >~ Bl







